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 �#$�
�� $�����

�" �� ��#���� �
���
��% ���"�&'&���� ���" 
�� ���� �( 
� 
�)�� $����
�" ��#�� ��"
$�����

�" �"� �
 �*�� ����� �
� 
� ���

� �#$��
� ��" �)+��" ���"�����" ,
� � ��� $�� �-��$
�.�

/� $��� �� 
� ����
�"����� ���0������
� ��
� !�� 1���� ��
� ��2" !���� ���)�� n ��
$�����

�" �������
�" �� ������������ /� "
$$�"��� �
� 
� !�� �"� ������
 ���" 
� �������
,)���� �
 ���. X ⊂ R

N , 
� ��" N = 3 �����"$������ �
 ����� $0#"��
� 
� $

" ���
��
� /�
$�
��� $�� �-��$
� ���"������% �� ��!
�!���� 
�" �3��" �� )���% �
� 
� !�� ���
$� ��
� 
��"$����

�� 
��� "
$$�"� �
� 
� $�"����� xi ∈ R
N �� 
�  ���""� vi ∈ R

N "
4"��� ' ������� 
� $�����

�
pi $�
� i = 1, . . . , n% 
����� �
 !�� $�
� �
��" ' �0��
� ��"���� t ≥ 0 *��� ������ �� 1�5��
�����������	
 $�� 
� $����

(
(x1(t), v1(t)), . . . , (xn(t), vn(t))

)
�� ��$��"�������� ���" 
��"$��� ��"

$0�"�"
(
R

N ×R
N

)n
� /� $�
� ������ 
�" 
��" �� ��6��� "�
" 
� 1���� ��
� ,��2" !����. "#"�2��

�� 2n ��
�����" �
 $������ ����� 1��"��� ����� ���� 
�" $�"�����" xi(t) �� 
�"  ���""�" vi(t) ��
��
��" 
�" $�����

�"% ���"� �
� 
�" 1����" ������������� �� �-�����
��" �!�""��� "
� ��" $�����

�"�
	� �-��$
� �#$��
� �"� 
� ���2
� ��" �����
� 
	�
� ���" 
��
�
 
�" $�����

�" ��)����""��� 
�"

��" "
� 
�" �
���" ����� ��" )�

�" �� )�

��� 7 
� 8�� �""���� �
- ��
�����" �� ��6��� �"�
�
��" )��� ��9�� $�
� $��"�
� ��
�� ��������� ������
� �� t = 0 �� ��������� ���"� 
�� �

���� ��"
$�����

�" �
 ��
�" �
 ���$"�

:�$������ ����� ��"���$���� �����"��$��
� $��"���� )��
��
$ ������� ������" ; �� �� �������
$�" 
�" ������" ������
�" ' 
���"���� t = 0% 
�" ��
�

" "��� ��4��
�" ��� �
" 1��� ����� ���� 
� ��2"
!���� ���)�� �� $����2���"% 
� ������""���� ��" $�"�����" xi(t) �� ��"  ���""�" vi(t) �� �����
$�" 
�" !�����
�" �����������	
� $0#"��
�" ������""����" �
� "��� 
�" ���"��� ρ(t, x)%  ���""�
u(t, x) �� ���$����
�� T (t, x) ��#����" �
 !�� ' 
���"���� t ≥ 0 �� �
 $���� x ∈ R

N �
:��"� $�
��
�� �� �0���0� ' $�""�� �� ����� ��"���$���� �����"��$��
� �-���� �
 �� ��


��" $�����

�" ���" 
� �"$��� ��" $0�"�" ��2" !���� ' 
�� ��"���$���� �����"��$��
� ; ��
���"������� �
� 
� !�� "� ��$$���0� ��
� ������

� $
�"�
��
 �"� 1���� ��
� ��2" !���� ���)��
n �� $�����

�"% 
����� �
 !�� $�
� *��� ������ ���" 
� ��
��
 �������	
 $�� 
�� ���"��� ��
$��)�)�
��� f(t, x, v) ��$��"������ �
 ���$" t ≥ 0 
� ���"��� �� $��"���� �� 
���"��)
� ��"
$�����

�" ���" 
��"$��� ��" $0�"�" R

N × R
N � � �0��
� ��"���� t ≥ 0% f(t, ., .) �"� 
�� ��"
��

�� $��)�)�
��� ���" R
N × R

N % x ∈ R
N ��$��"���� 
� $�"�����% v ∈ R

N ��$��"���� 
�  ���""� ��
f(t, x, v) dx dv ��$��"���� 
� �
������ �� $�����

�" ���" 
��
����� ��  �

�� dx dv ������ ��
(x, v) ���" R

N ×R
N � �
 # � ��
- ����2��" �������$����� ����� 1������� �� ��"���)
���� ; �� $�
�

 ��� 
� ��"
�� f(x, v) dx dv ����� 
�� �$$��-������� �� 
� ��"
�� ��$����
� 1
n

∑n
i=1 δ(xi,vi),

��"
�� �� $��)�)�
��� "
� R
N
x × R

N
v ,

(
(x1(t), v1(t)), · · · , (xn(t), vn(t))

)
����� 
� ���9!
������

�����"��$��
� �
 !�� 7 �� $�
� �
""� ���"������ 
�� ���"��� �� $��)�)�
��� "#������
� fn "
�

��"$��� (RN × R

N )n �� ��
��" 
�" ���9!
������" �����"��$��
�" ,����
�"��� 
� ����
� ��
������""���� "
� 
� $�"����� �-���� ��" $�����

�".% �� f ����� 
�� �$$��-������� �� 
� $����2��
���!���
� �� fn�

�������*� �� �� ���2
� �"� �
��
 $����� ���-$����� 
�" �
������" �����"��$��
�" ��"
��)
�"%

�" <�)"�� �)
�"<% ����� ��" ��#����" �� �
������" �����"��$��
�"� �� $�����

���% �
 ���$"
t ≥ 0 �� �
 $���� x ∈ R

N % �� $�
� ��9��� 
� ���"��� 
���
� ρ% 
�  ���""� �����"��$��
� 
���
� u

�



�� 
� ���$����
�� 
���
� T �
 !�� $�� 
�" 1���

�"

ρ(t, x) =
∫

RN

f(t, x, v) dv,

ρu(t, x) =
∫

RN

f(t, x, v) v dv,

ρT (t, x) =
1
N

∫
RN

f(t, x, v)|v − u(t, x)|2 dv.

��� �����
��� �� 
�������
 �
 �����
��� �� 	���
�
�� �� ���
�����

�� 
��)"���� �� 1����" �-�����
��" �� �������������" ����� 
�" $�����

�"% ���$�2" 
� $�����$�
�� ��6��� �0��
� $�����

� "� ��$
��� '  ���""� ���"����� 
� 
��! ��
�� ������% �� 
� ���"��� ��
$�����

�" �"� ���� ���"����� 
� 
��! ��" ���������"���
�" dx/dt = v, dv/dt = 0. /� $�
� ����
��
�

�� f �
 ���$" t !�=�� ' f �
 ���$" 0 : f(t, x, v) = f(0, x − vt, v), �
������� ��� f �"�
"�

���� 1��)
� �� 
���
����� �� 
�)�� ����"$���

∂f

∂t
+ v · ∇xf = 0.

�� 
��� ��+�
�� 
�� 1���� �-�����
�� �����"��$��
� F (x), �� �)����� 
���
����� �� >
�"� 
�������

∂f

∂t
+ v · ∇xf + F (x) · ∇vf = 0.

/� "�
0���� ���������� $������ �� ���$�� 
�" �����������" ����� 
�" $�����

�" 7 $�
� ��
�%
�� 1��� 
�" 0#$��02"�" "
� ����" ;

?� 
�" $�����

�" ������!�""���  �� ��" ���������� ������
� ; 
�� ��

�"��� �"� 
� ��"

��� ��

������������ �����"��$��
� �� ��
- $�����

�" �
� $�""��� ��2" $�2" 
�
�� �� 
��
���% �� �
� ��&
���@�� 
�� 1���� �� ������ �� 
�
�" ���+�������" �� 
� ���$" ��2" ��
��� :���� 0#$��02"� ��$
��
�
��$
��������� �
� 
� !�� �"� "
4"������ ��

� $�
� $�
 ��� ��!
�!�� 
��3�� ��" ��

�"���" 1��&
"��� ����� ���� $

" �� ��
- $�����

�"� �� �����"��� N = 3, ��
� �����"$��� ' 
� 
����� ��
��
������&A��� ; �� ���"��2�� 
� !�� �� n "$02��" �
��" �� ��#�� r, �� 
��� 1��� ������ n  ��"

���9��% r  ��" 0 �� ��

� "���� �
� nr2 → 1.

�� 
�" ��

�"���" "��� ��������
� �� ���$" �� �� �"$��� ; �

�" "� ����

��� "
� ��" ��0�

�" ��
���$" �� ���"$��� ��2" ��1����
��" �
- ��0�

�" �#$��
�" �� ��"���$�����

�� 
�" ��

�"���" "��� �������	
� ; 
� �
������ �� ��
 ����� �� 
�����!�� �������
� "��� $��&
"�� ��" $�� 
�� ��

�"���� B�� ���"��
���% "� v′ �� v′∗ ��"�!���� 
�"  ���""�" �� ��
- $�����

�"
������� �� ��

�"��� �� "� v �� v∗ ��"�!���� 
�
�"  ���""�" +
"�� �$�2" 
� ��

�"���% �� �{

v′ + v′∗ = v + v∗
|v′|2 + |v′∗|2 = |v|2 + |v∗|2

.

/� $�
� ��$��"����� 
�" "�

����" �� �� "#"�2�� "�
" 
� 1����{
v′ = v+v∗

2 + |v−v∗|
2 σ

v′∗ = v+v∗
2 − |v−v∗|

2 σ
,

�



�( 
� $����2��� σ ������ 
� "$02�� 
���� SN−1 ,�*�� "� 
��� ���"��2�� �
� 
�" $�����

�" "���
$����
�

�"% 0�
��"���
����� σ ����
�"� 
���8
���� �� 
���!
� "�
" 
��
�
 
�� $�����

�  ���� ��
��
�0�� 
�� �
���% ����� "� ��

�"&�� ������� ��" "$02��" �� ��#�� ��2" $����.�

����!
� θ ∈ [0, π] �� �� ������ ��9�� $��

cos θ = (k, σ)

�( k �"� 
�  ����
� 
�������

k =
v − v∗
|v − v∗|

�"� 
���!
� ����� 
�"  ���""�" $�� �� $�"�&��

�"�����

�"�
C� 
�" ��

�"���" "��� ��������
�����
� ; ��
� $���� ��  
� $��)�)�
�"��% 
� $��)�)�
��� �
� 
�"

 ���""�" (v′, v′∗) "����� �0��!��" �� (v, v∗) ���" 
�� ��

�"��� �"� �!�
� ' 
� $��)�)�
��� �
� 
�"
 ���""�" (v, v∗) "����� �0��!��" �� (v′, v′∗)�

D� 
�" ��

�"���" "���"1��� 
�0#$��02"� �� ����� �����	����
 ; 
�"  ���""�" �� ��
- $�����

�"
�
�  ��� ������ �� ��

�"��� �� "��� $�" �����
��"� :���� 0#$��02"� ������
�� 
�� ��""#������
����� 
� $�""� �� 
� 1
�
�% ��� "� 
�"  ���""�" $��&��

�"�����

�" ��������� $�" �����
��"% �
��" 
�"
 ���""�" $�"�&��

�"�����

�" 
� "����� �������������

��
" ��" 0#$��02"�"% ��
������ ������ �� ?EF� �
��
 1�

��� �+�
��� ���" 
� "����� ���)��
�� 
���
����� �� ����"$��� 
�)�� 
� �$�����
� �� ��

�"��� �
�������
� ����
�"��� 
��3�� ��"
��

�"���" "
� 
� ���"��� f �� �!�""��� 
���
����� "
� 
� ��$������� �� v :

∂f

∂t
+ v · ∇xf = Q(f, f),

� ��

Q(f, f) =
∫

RN

dv∗
∫

SN−1

B(v − v∗, σ) [f ′f ′
∗ − ff∗] dσ

�( f∗% f ′% f ′∗ ��"�!���� ��"$���� ����� f(t, x, v∗)% f(t, x, v′)% f(t, x, v′∗) �� �( B �"� 
�� 1�������
$�"��� � �$$�
�� ����	 

 ��������� 7 �� ��#�
 �� ��

�"��� ����� ���$�� �
 1��� �
� 
�" ��

�"���"
$�
 ��� � ��� ��" ��$�������" ��3������" "�
�� 
� ���9!
������ ��
��� � ��" $�����

�" �
� "�
������������ B�
� ��" ���"��" �� "#������% �� ��#�
 �� ��

�"��� ��$��� "�

����� �
 ���

�
|v − v∗| �� 
�  ���""� ��
��� � �� �
 ��"��
" �� 
���!
� θ �� �� ������ ��9�� $�����������% �� Q
$�
� �
""� "������� "�
" 
� 1����

Q(f, f) =
∫

RN

dv∗
∫

SN−1

b(|v − v∗|, cos θ) [f ′f ′
∗ − ff∗] dσ.

Q $�
� "�  ��� ����� 
� ��3������ �� ��
- �����"% �� !��� �� �� $����%

Q(f, f) = Q+(f, f) − Q−(f, f).

�� ����� �� $���� ���$�� ��
��" 
�" ��

�"���" ���" 
�"�
�

�" 
�� �������� $�����

� ��  ���""�
v  � �� ���������� 
�� �
��� ��  ���""� v∗; �$�2" 
�� ��

� ��

�"���% 
� $�����

� �0��!��� ��
!�����
 ��  ���""�% �� �
 # �
�� ���� ����" �� $�����

�" � �� 
�  ���""� v. G�
� �
��� �H��% '
�0��
� 1��" �
� ��" $�����

�" � �� ��"  ���""�" v′ �� v′∗ "� �����������% 
� $�����

� � �� 
�  ���""�
v′ $�
� ���
���� 
�  ���""� v �$�2" 
� ��

�"���% �� �
� ������� $

" �� $�����

�" ��  ���""� v.

C



/� $�
�  ��� 
���8
���� ��" 0#$��02"�" "
� 
� 1���� �� 
��$�����
� �� ��

�"��� ; ?� 
� ���
��
�
�������
� �� 
��$�����
� ����

� �
 1��� �
� 
��� �� ���"��2�� �
� ��" ��

�"���" )������" 7
�� 
� 
���
�"����� �� ���$" �� �� �"$��� ��" ��

�"���" �������� �
� 
�"  ����)
�" t, x �� "���
�
� ��" $����2���" 7 �� 
�0#$��02"� ���
�"������ ��" ��

�"���" ����� 
� 1���� �� v′ �� v′∗; C� 
�
������� ��"�)�
��� ��$
��
� 
� "#������ �
 ��#�
 �� ��

�"��� ,��$������� ��  ���""� ��
��� � ��
��!
� �� �� ������. 7 D� 
�0#$��02"� �� �0��" ��
��

���� � $�
� ���"��
���� 
� $��"���� ��"
$���
��" ���"����
" f ′f ′∗ �� ff∗�

�� ��#�
 �� ��

�"��� $�
� *��� �-$
����� ���" �������" ��"� ���"� ���" 
� ���2
� ��
��� $��
��
������% 
�" $�����

�" "��� �""���
��" ' ��" )�

�" �� )�

��� ,��" ��" "$02��" �
��". �� 
�
��#�
 �� ��

�"��� �"� �� 
� 1����

b(|v − v∗|, cos θ) = c0|v − v∗|
�( c0 �"� 
�� ���"�����% �
��" �
� "� 
� 1���� ������������� ����� ��
- $�����

�" ���� � ��
�
$�������
 �� 
� 1���� !�����
� φ(r) = r1−s �( s ≥ 2% 
� ��#�
 �� ��

�"��� $�
� *��� �-$
�����
"�
" 
� 1����

b(|v − v∗|, cos θ) = |v − v∗|γ b̃(cos θ)

� �� γ =
s − (2N − 1)

s − 1
· �� ��" �� 
������������ ��

��)����� �����"$��� ' s = 2 �� N = 3% ��


� ��#�
 �� ��

�"��� �"� �
��" ����� $�� 
� 1���

� �� I
�0��1���

b(|v − v∗|, cos θ) = |v − v∗|−3 sin−4 θ

2
·

�� $�����$�
 �)"���
� $�
� $�
 ��� ���"������ 
� ��#�
 �� ��

�"��� B ����� 
�� ��"
�� ��
$��)�)�
��� "
� 
���"��)
� ��" �0��- �� σ ∈ SN−1 �� 
�� 1������� �� 
�  ���""� ��
��� � v−v∗ �"�
�
� B ���"� $�" ��
+�
�" ����!��)
� ,�1� 
� ��" ��

��)���.� :���� "��!

����� ���&����!��)
� �� 
�
$����� ��!

���� �
 ��#�
 �"� �J� ' 
� "
��)������� ��" ��

�"���" ��"����"% ���"�&'&���� �
 ��
�"
��"�
�

�" 
�" $�����

�" "��� ' $���� �� ���"� :��"� 
� ��" 
��"�
� 
��� ����
�"� 
�� �����������
' 
��!
� $����� ; 
��"�
� 
�" $�����

�" ������!�""��� ' ��� ��" 
� $�������
 �������������% 
�
$����2��� ����$��� p ,��"����� ������
� "� 
�" ��
- $�����

�" ��������!�""����� $�". �$$���@�
���" 
� ��#�
 �� ��

�"��� �� �� �)�����∫ π

0
B(|v − v∗| , cos θ) sin θ dθ =

|v − v∗|p2
���

2
,

�
� �"� ���� ��9�� $�
� ��" 1����" ' $����� ��9���% �
�

� �
� "��� 
� ������""���� �� ��

�"&��
' 
���9��� �
 $�
� "��)
�� �������� �� ���"������ ��" 1����" ' $����� ��9��� �
��" �
� 
��� 1���

�0#$��02"� �� 
���
�"����� �� �"$��� ��" �����������"� �
 ���"� ��
��1��" $�" � $����� ��������������
�� "
$$�"�� �
� 
� $����� �� 
� 1���� �"� ��9��� ' 
�� ��0�

� �����"��$��
� ��
� �� �����
��!
�!��)
� ' 
�� ��0�

� �����"��$��
��

/� "
$$�"� ���� "�
 ��� 
� ��#�
 �� ��

�"��� 
���
����� ����!��)
� 7 �� $��
� �� !�����

��0#$��02"� �� <�
�&�3 ��!

����< �� A��� ;∫

SN−1

b̃(k · σ)dσ = |SN−2|
∫ π

0
b̃(cos θ) sinN−2 θdθ < ∞.

��" ��"

���" ���" 
� ������� "� "�$����� 1���
������ �� ��
- ����!����"% � �� �
 "��" 0#$�&
�02"� �� <�
�&�3 ��!

����<% 
�" ��"

���" � �� <�
�&�3< ����� �� 
��� 
�" $

" ���)��
-�

D



��� �����
��
� �� 	���
�
�� �
 � ������ !

/� "�
0���� ��
���� 
��-$��""��� "
� ���� ;∫
RN

Q(f, f)φ(v)dv =
∫

RN

∫
RN

∫
SN−1

B(v − v∗, σ) [f ′f ′
∗ − ff∗]φ(v) dσdv∗dv,

�( f �� φ "��� ��

�" �
� 
�" ����!��
�" �-�"����� /� $�
� �)����� ,�
 ����" 1����

�����. �� ��"�"
��
�����"% !�=�� ' ��" �0��!�����" ��  ����)
�" "��$
�" ;

• ��0��!�� 
�"  ����)
�" ����
��" �� ���&����
��" ��
" �����∫
RN

Q(f, f)φ(v)dv =
∫

RN

∫
RN

∫
SN−1

b(|v − v∗|, σ · k) [f ′f ′
∗ − ff∗]φ(v∗) dσdv∗dv.

• $�� 
� �0��!����� ��  ����)
� �� +���)��� 
������� (v, v∗, σ) → (v′, v′∗, k) �� �)����� ;∫
RN

Q(f, f)φ(v)dv =
∫

RN

∫
RN

∫
SN−1

b(|v − v∗|, σ · k) [ff∗ − f ′f ′
∗]φ(v′) dσdv∗dv.

• "� �� ��0��!� 
�"  ����)
�" ����
��" �� ���&����
��" ���" ����� �����2�� �-$��""���% �� ���
 � ;∫
RN

Q(f, f)φ(v)dv =
∫

RN

∫
RN

∫
SN−1

b(|v − v∗|, σ · k) [ff∗ − f ′f ′
∗]φ(v′∗) dσdv∗dv.

/� $�
� ���������� ���"������ 
�� ���)����"�� 
������� �� ��" �
���� �-$��""���" $�
�
�)����� ;∫

RN

Q(f, f)φ(v)dv =
1
4

∫
RN

∫
RN

∫
SN−1

B(v − v∗, σ) [f ′f ′
∗ − ff∗](φ + φ∗ − φ′ − φ′

∗) dσdv∗dv.

∫
RN Q(f, f)φ(v)dv �"� ���� �

 ����$��������� �� f $�
� ��
� φ "�

���� �� 
���
�����

1���������

�
φ + φ∗ = φ′ + φ′

∗.

/� $�
� ������� "�
" ��" ���������" ��2" 1��)
�" �
� 
�" "�

����" �� ����� ��
����� "��� 
�"
���)����"��" 
�������" ��" ���������� 

 ��������� ;

φ(v) = 1, vi,
|v|2
2

, 1 ≤ i ≤ N.

/� �)����� ���"� 
�" 
��" �� ���"�� �����" ,1����

�". �� 
���
����� �� ��
������ ; "� f �"�
"�

���� �� 
���
����� �� ��
������%

d

dt

∫
f(t, x, v)

⎛
⎝ 1

vi
|v|2
2

⎞
⎠ dx dv = 0, 1 ≤ i ≤ N,

���"�&'&���� �
� 
� ��""�% 
� �
������ �� ��
 ����� �� 
�����!�� ����
�" �
 !�� "��� ���"�� ��"�
:�" 
��" �� ���"�� �����" "���  ����" "� X = R

N , ���" $�
 ��� ��
��1��" ���)�� �� ��1�
� ���"

� ������� )����% "�
�� 
�" ���������" �
� 
��� ��� �
 )���� /� ������
� $�� ��

�
�" �
��

�"
"���  ����" ���" 
� ��" "$����
����� 0���!2���

K



�� 
��� ���2!�� 
���
����� $�� ��$$��� ' 
�  ����)
� ��  ���""� ������ 
�" �� ������" ��
��

�"���% �� �)����� ��" 
��" �� ���"�� �����" 
���
�" ;⎧⎨

⎩
∂ρ
∂t + ∇x · (ρu) = 0,
∂
∂t(ρu) + ∇x · (∫

RN fv ⊗ v dv
)

= 0,
∂
∂t(ρ|u|2 + NρT ) + ∇x · (∫

RN f |v|2v dv
)

= 0.

�� 
��� ���"��2�� ���������� φ = log(f) �� �� "
$$�"��� �
� 
�" ����$

�����" "��� ������
 �
���"% �� �)����� ; ∫

RN

Q(f, f) log(f)dv = −D(f),

�( D �"� 
� 1���������

� �� $���
����� �������$��%

D(f) =
1
4

∫
R2N×SN−1

B(v − v∗, σ) [f ′f ′
∗ − ff∗] log

f ′f ′∗
ff∗

dσdv∗dv ≥ 0,

��� 
� 1������� (x, y) �→ (x − y)(log x − log y) �"� $�"��� �% �� "� B > 0 $��"�
� $����
� �
��"
D(f) = 0 "� �� "�

����� "�

f ′f ′
∗ = ff∗

�"�  ��� $��"�
� $����
�� φ = log f �"� ���� 
� �� ������ �� ��

�"���% �� f = exp(a+b ·v+c|v|2).
f ����� "
$$�"� ����!��)
�% c < 0, �� �� $�
� �������� f "�
" 
� 1����

f = A exp(−α|v − u|2), A, α > 0.

:� �#$� �� 1������� �"� �$$�
� ��-6�

������ /� �� ���
�� �
� 
�" "�

�" "�

����" "���"1��"���
Q(f, f) = 0 "��� 
�" ��-6�

�����"�

/� ������
�� 
�" 1���������

�" H(f) =
∫

RN f log f dv �� I(f) =
∫

RN f log f v dv� �� f �"�
"�

���� �� 
���
����� �� ��
������% �� �)����� �
��" 
���
�����

∂H
∂t

+ ∇x · I = −D.

G��" 
� ��" "$����
����� 0���!2��% �� �� ���
�� 
� �0���2�� H �� ��
������ ;

∂H
∂t

= −D ≤ 0,

H �"� 
�� �
������ "���������� ������""����% "�
1 "� f �"� 
�� ��-6�

�����% �
�
�
 ��" 
� ���� ��
�� ���$" �� H �"� �


�� �� �0���2�� H �����"$��� ' 
� "������ 
�� �� 
� �0�����#�����
� ,
��
�� :
�
"�
". "�
�� 
��
�

� 
������$�� $0#"��
� −H(f) ��
� "#"�2�� �"�
� �"� ����""���� �
 ��
�"
�
 ���$"� �
 ����
�� �� $�����

��� 
�� $��$����� ������ ��"�)�
��� ���" 
� ���2
� �� ��
�������

�� ���"���% 
�  ���""� �����"��$��
� �� 
� ���$����
�� ����� ���"�� ��" ���" 
� ��" "$����
�&
���� 0���!2��% �� $�
� ���"��
��� 
�� ��-6�

����� M �#��� �*�� ρ, u, T �
� ��
�� "�

����
f �""����� ' 
�� ��������� ������
� ������ ;

M(v) = Mf (v) =
ρe−

|v−u|2
2T

(2πT )N/2
.

F



B�� ��

�
�"% �� ������
� �
� $�
� ��
" x, y ≥ 0, x log x − x log y + y − x �"� $�"���1� G� $

"%
log M ����� 
� �� ������ �� ��

�"���%

∫
RN g log M dv �� ��$��� �
� ��" ����" $������" ������"

�� g% �� ���"� ∫
RN

f log M dv =
∫

RN

M log M dv,

�
 ������

H(f) −H(M) =
∫

RN

f log
f

M
dv = H(f |M),


������$�� ��
��� � �� L


)��M� G���∫
RN

f log f dv −
∫

RN

f log M dv +
∫

RN

(M − f) dv = H(f) −H(M) ≥ 0.

H �"� ���� "���������� ������""��� "� f �= M �� �"� )���� ��1����
������ $�� H(M). �
 �"�
������� �� $��"�� �
� H(f)  � ��� ��!��  ��" H(M). :� ���"� 0�
�" $�" "� � ����� �� �� #
�� ������ 
��"�
� 
��� $��
��� �� 
� ���+���
�� �� :����!����� N�
��1��"% "� 
��� "
$$�"� �
� 
���
� ��� ��!���� �� H(f)  ��" H(M) �
��� t ����  ��" 
���9��% �� $�
� �� ���
��� �
� f ����
 ��" M ���" L1. �� �3��% ������
�"��" 
� 1�������

g(z) =

{
z "� 0 ≤ z ≤ 1
1 "� 1 ≤ z

.

	�� ��
�� "��$
� �� 
� 1������� h : x �→ x log x + x − 1 − cg(|x − 1|)|x − 1| ������ �
� "� c �"�
�0��"� "
4"������ $����% h �"� $�"��� � "
� R

+. �� $������ x = f/M, �� �)�����

f log f − f log M + M − f ≥ cg

( |f − M |
M

)
|f − M |.

/� ���2!�� ����� ���!�
��� $�
� �)�����

H(f |M) ≥ c(
∫

Gt

|f − M | dv +
∫

Pt

|f − M |2M−1 dv),

�( Gt �� Pt ��"�!���� 
�" ��"��)
�" ,��$������ �
 ���$". "
� 
�"�
�
" |f − M | �"� $

" !����
,��"$���� ����� $

" $����. �
� M. B
�"�
� H(f |M) �"� "
$$�"� ������  ��" 0, 
�" ��
- ����&
!��
�" �
 ���)�� �� ������ ������� �
""�  ��" 0 �
��� t → ∞. B�� :�
�0#&��06����% �� ��
���
�� �
� ∫

Pt

|f − M | dv ≤
(∫

Pt

|f − M |2M−1 dv

)1/2 (∫
Pt

M dv

)1/2

→ 0.

��9�% ∫
|f − M | dv =

∫
Gt

|f − M | dv +
∫

Pt

|f − M | dv

���� �
""�  ��" 0 �� f ����  ��" M ���" L1.
G��" 
� ��" ���&0���!2��% �
 1�
� ����!��� �
""� $�� ��$$��� ' 
�  ����)
� ���"$��� ;

H(f) =
∫

X×RN
v

f log f.

E



/� �)����� $�
� f "�

���� �� 
���
����� �� ��
������

dH

dt
≤

∫
∂X

I · ndσ,

�( n �"� 
� �����
� �������
�� �� dσ 
� ��"
�� "
� ∂X. �� "��
����� ��$��� �
��" �
 ������� X
�� ��" ���������" �
- )���"� B�� �-��$
�% ���" 
� ��" X = R

N ��" ���������" �� ������""����
' 
���9�� "��� ����""����" $�
� ����

�� ' 
� ������""���� �� H.�

�
 ��"�� ���� ' "�������""�� ' 
� ��� ��!���� �� �����$��� /� �  
 �
� 
� ���� �� ���$���

�
�� 
������$�� ����� 
��� ' 
� 1���������

� D. �
 "����� ���� ��2" 
��
� $�
� ��������� 
�� ��

�
��� ��!���� ���)����� ��" ���!�
���" �� �#$� 
������
����
	����� 
�
������
 ;

D(f) ≥ Θ(H(f |f∞)),

�( H �→ Θ(H) �"� 
�� 1������� ������
� "���������� $�"��� � �
��� H > 0. /� �
���� �
��" ��
�3�� �� ������ H(t) = H(f(t, ·)|f∞) 
�� ���!�
��� ��3�������

�

− d

dt
H(t) ≥ Θ(H(t)),

���� �� ���
�� �
� H(t) → 0 �
��� t → ∞, � �� ��" ��
- �� ��� ��!���� �-$
�����" "� 
�
1������� Θ �"� "
4"������ ����
�� �
 �"� 0�
�" 
� $

" "�
 ��� ��2" ��4��
� �
 ��$�""�)
�
���)����� ��" ���!�
���" �
""� 1����"% �� 
��� "��
����"� $

�H� 
�� ��$������� �� Θ �� 1�������
�� ��������" �
������" ��
��� �" ' f, ����� "� ����� ���" ��" �"$���" �� ��)�"!
� ,� �� $���".%
"� "������ $�"��� ���% "� ��!

�����% ������ �
���� ���"��������" � $����� �
� �� ���� *��� ���������"
����$���������� :��"� ���" ����� $��"$���� � �
� :����!���� ����5� �
 ��)
� ��" �����" E�

�� ���+���
�� "�
�� 
��
�

� 
�� ��
����� �� �#$� �����$��&$���
����� �������$�� 
������� �����
 ���9�� ;

��������	�
 ���	��
����� ���� B ≥ 1 	� ����	 

 ��������� 
� D �� ���������
��
 

 ����


	����� 
�
������
 �������
� ���� f(v) 	�
 

����� 

 ����������� �	� R
N 

 �
������	�
 	�����


� M �� ����
���
��
 �������� ������ �� 
����
 λ(f) > 0 
��
�
��� 

 f 	���	
�
��  ����
��

�
�����
� 
���������� 

 ���
���� 

 ��!	������ 

 �����
�� 

 ����
 ������
	�
� �
��
 �	


D(f) ≥ 2λ(f)H(f |M).

:���� ���+���
�� 1
� �� 1��� ���������� $�� ��)#
� �� :����!���� ; �
" ���"��
�"����� 
��
1���

� �� 1�������" $�
� 
�"�
�

�" ��� ���!�
��� �"� 1�
""� $�
� 
� λ 
��1���� �
��" �
� ��"
1�������" $�""2���� ��" �����" Lp �
 Hk ,�
�
" �
� "����� p, k. 
��1�������� )�����"% ��"
������" ������� k ,�
�
 �
� "��� k. 
��1�������� )����"% �� "��� )�����" ��1����
������ $��

�� ��-6�

����� 9-�� :�" ������&�-��$
�" "��� �)���
" �� �+�
���� ' 
� 1������� ����
�
�)��

� "�
� ��2" $���� ' ��"  ���""�" ��2" �
� ��"�

���$$���0��� �� )����" 
�������"% N�"���� �� >�

��� $��
 2���� �� ?OOO 
�" $����2��" )����"
$�
#�����
�" ; "� 
� ��#�
 �� ��

�"���  ���9�

B(v − v∗, σ) ≥ KB(1 + |v − v∗|)−β (KB > 0, β > 0),

�
��" $�
� ��
� ε > 0 �� �
D(f) ≥ Kε(f)H(f |Mf )1+ε.

O



B
�" >�

��� ������ ,P>��Q. �
� 
� ���+���
�� �� :����!���� �����  ���� $�
� 
� ��#�
 ��
��

�"��� "
$��&�
�������
� �
 "��" �(

B(v − v∗, σ) ≥ KB(1 + |v − v∗|2),

�� ������� 
�" $��������" ��"

���" �
 ��" �( 
� ��#�
 "����

� $�
� v = v∗, $��������� ���"� ��
������� 
�" ��" $0#"��
����� ������""���"�

� �����������
�� ������
�
��� �� �
�����
�� �� ���������

/� �0���0� ' !�����
�"�� 
� ������ �� "�

���� �� 
���
����� �� ��
������ �� �� �������

�� 1���

����� 1��)
�� ����!���" 
���
����� ������ 
�� 1������� ��"� φ :∫

φ(x, v)(∂tf + v · ∇xf) dx dv =
∫

φ(x, v)
∫

SN−1

dσ

∫
RN

dv∗B(v − v∗, σ) [f ′f ′
∗ − ff∗] dx dv.

/� ����"$�"� 
�" �$�����
�" $�
� 
�" 1���� �!�� "
� φ �� ' 
����� ��
�� ����!������ $�� $�����" ��
�
 �0��!����� ��  ����)
�" (v, v∗) → (v′, v′∗), �� �)�����

∂t〈Pt, φ〉 − 〈Pt, v · ∇xφ(x, v)〉 = 〈Pt(dx, dv),
∫

(φ(x, v′) − φ(x, v))B(v − v∗, σ)f(t, x, v∗) dv∗dσ〉,
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∫
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